FOUNDATIONS (CA. 8000 BCE-600 CE) REVIEW TEST: AFRICA

1. Which of the following best explains life in communities prior to the Agricultural Revolutions?

A. Agriculturalists and pastoralists competed and often fought over land.

B. The only role for women was to bear and raise children.

C. Groups were defined by the geographic region of origin.

D. The foraging lifestyle supported only small, nomadic groups of people.

E. Specialization of labor resulted in important technological advances.

2. Which of the following reasons do most historians cite as the cause of the Agricultural Revolution?

A. People migrated to regions that could finally support agriculture.

B. A cooling period around 6000 B.C.E allowed people to settle in one place year round.

C. Climate change drove people to abandon foraging in favor of agriculture.

D. Foraging groups grew so large that they could no longer function as nomadic societies.

E. Major river valleys stopped flooding, which allowed people to settle along their banks. 

3. Egypt benefited from its geographic location because

A. it was located at the crossroads of key trade routes

B. it emerged along key migration routes and was thus exposed to diverse ideas and peoples

C. isolated by desert, it was spared major invasions

D. it sat atop some of Africa’s riches gold mines

E. its vast resources prevented it from ever having to engage in long-distance trade

4. Women in ancient Egypt

A. never held any political power or influence

B. lacked rights in the male-dominated society

C. were the main source of agricultural labor

D. were empowered by the matrilineal nature of Egyptian civilization

E. could inherit property and divorce their husbands

5. The political system of ancient Egypt included all of the following EXCEPT

A. pharaoh as the source of all law

B. a large bureaucracy that provided pharaoh with important support

C. a large and powerful merchant class that facilitated long-distance trade 

D. slavery on a limited scale

E. the occasional presence of women in positions of influence

6. Which two developments arose in Ancient Egypt?

A. hieroglyphics and papyrus

B. hieroglyphics and gunpowder

C. cuneiform and papyrus 

D. monotheism and the concept of zero

E. a written law code and the calendar

7. Which of the following best describes sub-Saharan African societies prior to 1 C.E?

A. Sub-Saharan Africa was tied to the rest of the world through the Indian Ocean trade network.

B. Most sub-Saharan African societies shared major cultural components such as language and religion.

C. Sub-Saharan African societies lacked clear political and social structures.

D. Geographic isolation resulted in major cultural and technological developments coming from within the region.

E. Low population density and the massive size of the region prevented significant migration and interaction.

8. Archeologists are able to trace the Bantu migration

A. through the written records of the people they conquered

B. because of the distinct architectural style of their buildings

C. through the spread of iron smelting and language

D. on maps left behind by the ancient Egyptians

E. through the adoption of its specific law code by societies across Africa

9. Which of the following events had the greatest impact on trans-Saharan trade?

A. the domestication of the camel

B. the discovery of new water sources in the region

C. the Egyptian invasion of Nubia 

D. the regular flood patterns of the Nile River

E. the discovery of salt deposits along the coast of East Africa

10. Which of the following is an accurate description of how Egypt changed from the Old Kingdom to the Middle Kingdom and New Kingdom?

A. Egypt’s power and role in the region decreased dramatically.

B. Egypt undertook economically motivated expansion.

C. Egypt turned inward economically and ceased long-distance trade.

D. Nubians invaded Egypt, and thus later kingdoms were ruled exclusively by outsiders.

E. Egyptian civilization moved away from the Nile River.
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11. Which of the following was the largest geographic challenge for the people settling in Mesopotamia?

A. the unpredictable nature of the Tigris and Euphrates Rivers

B. the absence of useful building materials

C. the great distance from regional and long-distance trade routes

D. poor soil for agriculture

E. the absence of large animals that could be domesticated and employed in agriculture

12. All of the following were characteristic of city-states in Mesopotamia EXCEPT  

A. clear social divisions

B. provisions of food for the city by farmers

C. provisions of markets and protection for farmers by city-dwellers

D. a diminished role of religion

E. specialized labor

13. Which of the following best describes women’s role in city-states in Mesopotamia?

A. The opportunity arose for women to occupy positions of political power.

B. They gained more freedom and choice in marriage.

C. Women no longer worked outside of the home.

D. Women could own property and engage in trade.

E. Fewer children were needed, so women had more time to work and acquire skills.

14. All of the following are true of slavery in Mesopotamia EXCEPT

A. slaves occupied the lowest class of society

B. slaves were primarily employed in domestic service

C. slaves in Mesopotamia played a more important role in society than those in Greece and Rome

D. most slaves were prisoners of war

E. slaves faced harsher punishment under law codes because of their position in society

15. Which of the following best describes how the Assyrians treated the people they conquered?

A. The king ruled directly over the people of the empire so as to maintain tight control.

B. Freedom and autonomy were granted to conquered people in an effort to win their allegiance.

C. Mass deportation and terror were used to keep people in line.

D. Wealth was channeled from the center to the outlying areas by the paternalistic ruler.

E. In an effort to control subjects, all along-distance trade was halted.
16. The Israelites were unique in the region because of their

A. location along the Mediterranean Sea and large involvement in trade

B. continued existence as nomadic herdsmen while others formed settled communities 

C. wealth of natural resources 

D. ability to mount a successful resistance to the Neo-Assyrian Empire

E. belief in monotheism and a covenant with god

17. To control the vast Persian Empire, Darius I

A. used terror and mass deportation to prevent uprisings 

B. instituted a limited democracy

C. divided the empire into provinces run by governors 

D. imposed Persian traditions and customs on all subjects 

E. controlled all aspects of life from his capital city

18. Which of the following is an example of Hellenism?

A. Alexander the Great’s military strategy for expansion

B. the presence of Greek architecture in the Middle East

C. the limited democracy of Athens

D. the presence of pyramids in Egypt and ziggurats in Mesopotamia 

E. the extensive roads of the Persian and Roman Empires

19. Which of the following is true of the Assyrian, Persian, Greek, and Roman Empires?

A. They all conquered major cities and trade routes of the region.

B. They all originated in areas rich with natural resources.

C. Each empire bordered the Mediterranean Sea.

D. They all instituted a centralized administration.

E. Each overlapped with the early river valley civilizations in Mesopotamia and Egypt.

20. All of the following are true Judaism and Christianity EXCEPT

A. Jews receive better treatment than Christians while under Roman rule

B. Christians see Jesus as the Messiah while Jews still await the Messiah

C. both religions originated in present-day Israel and Palestine 

D. the Hebrew Torah is also part of the Christian Bible

E. both Judaism and Christianity are monotheistic 
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21. Zhou leaders established their legitimacy by 

A. instilling in the people feelings of terror and fear

B. suggesting they were chosen to lead by Heaven

C. erasing many of the traditions and rituals and the Shang

D. installing a decentralized regime that respected the individual 

E. promoting the teachings of Confucius

22. All of the following are true about Confucianism EXCEPT

A. Confucianism was more influential after the death of Confucius

B. the state was modeled on the family

C. people were given clear roles and expectations based on age and gender

D. opportunities existed for social promotion and equality

E. it sparked the rise of Daoism

23. Which statement is most reflective of Legalism?

A. Human nature is evil, so rules and strict punishments are needed to maintain order.

B. The emperor should rule the land as the father heads the family.

C. Peace and prosperity are best achieved by accepting the state of the world.

D. When the emperor is corrupt, he loses the right to rule, and his overthrow is acceptable.

E. Conquered territories must follow Chinese laws and pay tribute to the emperor each year.

24. To help govern the Han dynasty, emperors relied on 

A. their massive army to deport individuals and instill fear in the local population

B. a system that channeled wealth from the center to the periphery, thus winning the allegiance of locals

C. local leaders who studied Confucianism at national universities 

D. advanced military weapons and techniques that came from Europe

E. an ideology that effectively combined Legalism and Daoism

25. Which of the following best explains the reason for the decline of the Han dynasty?

A. The Han dynasty declined because no suitable replacement emerged after the death of its prominent and powerful founder.

B. The Han dynasty was invaded by outsiders from Central Asia, who founded the next great Chinese dynasty.

C. Han China collapsed under the economic strain of a having a negative balance of trade with Europe.

D. Han China declined due to the enormous expense and demands of maintaining a large empire.

E. The Han dynasty declined because Confucianism was not an appropriate governing philosophy.

26. Confucianism and Hinduism are similar in that

A. both are based on the teachings of an individual 

B. both were introduced by outsiders seeking to control the native population

C. both promote gender quality

D. both promote a rigid social hierarchy with limited social mobility 

E. both accommodate diverse practices in a large populated

27. All of the following are true about Buddhism EXCEPT

A. Buddhism influenced Hinduism.

B. Buddhism began in China and spread to India.

C. Buddhism experienced a schism after the death of the Buddha.

D. Buddhists believe enlightenment comes from living according to clear rules.

E. Buddhists believe in reincarnation.

28. Which statement best describes the political nature of Indian prior to 400 B.C.E.?

A. The subcontinent was dominated by a large and powerful empire that rose shortly after the emergence of civilization along the Indus River.

B. Like China, India had periods of centralized authority separated by periods of conflict and disunity.

C. India consisted of many diverse societies whose organization and economies differed.

D. Aside from small cities along the Indus River, most people of the subcontinent were either pastoralists or foragers.

E. The subcontinent was controlled by Indo-European forces that invaded from the northwest.

29. Which statement is true about the Mauryan and Gupta Empires?

A. They were both highly centralized regimes that relied on a strong army to retain control throughout each empire.

B. Mauryan and Gupta kings controlled the key economic aspects of society in order to construct a vast and effective infrastructure.

C. The Mauryan Empire rose from within India while the Gupta Empire was founded by an invading force that came through the Hindu Kush Mountains and across the Thar Desert.

D. Leaders of both the Mauryan and Gupta Empires controlled the economy but channeled the wealth of the empire to the locals so that they could clearly see the benefit of being subjects of the empire.

E. The Gupta Empire was a Buddhist government ruling over a Hindu population while the Mauryan were Hindu as were their subjects.

30. Which of the following statements best describes the regional strength of Southeast Asia relative to South and East Asia?
A. Southeast Asia’s economic and political importance increased whenever Silk Road trade was disrupted.

B. Southeast Asia’s political strength grew when Buddhism was imported from India.

C. Southeast Asia was an economic equal to China but could never compete with the powerful Mauryan and Gupta Empires.

D. Southeast Asia lacked the natural resources to sustain a large enough population to compete economically with the rest of Asia.

E. Southeast Asia’s relative isolation from the rest of Asia kept it free from external control and allowed it to prosper economically at a time when the rest of Asia was fighting.
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31. Which of the following statements best describes the economic and political nature of the Minoan and Mycenaean civilizations?

A. Minoan and Mycenaean homelands had vast natural resources and could follow an isolationist foreign policy.

B. Located on the island of Crete, the Minoans had far greater access to the Mediterranean and as a result were more politically and economically influential than the Mycenaeans.

C. Minoan and Mycenaean societies relied heavily on trade and thus had close economic and political ties to their neighbors around the Mediterranean.

D. Because of the authoritarian nature of their government, Minoans were more aggressive economically and politically than the isolated Mycenaeans.

E. Minoan and Mycenaean civilizations frequently clashed as they competed for limited resources and trading partners.

32. The most lasting contribution of the Phoenicians was

A. a model for creating a trade-based civilization that would be followed by subsequent groups in the region.

B. a new approach to knowledge that challenged existing modes of thought and is the basis of Western philosophy.

C. developments in naval technology that enabled the Phoenicians to fend off Persian advances into the Mediterranean.

D. an alphabetic system of writing that used symbols for sounds instead of for whole words.

E. a democratic form of government that the Greeks used as a model for their system.
33. After the eighth century B.C.E., the Greek political system was based on the polis, or city-state.  Which of the following is true of this system?
A. Each polis consisted of an urban center and the surrounding rural territory.

B. The polis system arose because of a large population increase, probably caused by more effective farming.

C. Each polis was fiercely independent, and as a result, they often fought with one another to preserve their autonomy.

D. Most urban centers were designed in similar fashion so as to meet the political and security needs of the people.

E. All of the above.

34. Which statement would most likely have come from a pre-Socratic Greek philosopher?
A. Earth, air, and fire are the key elements of the world and serve as building blocks for nature.

B. People have natural rights, and therefore it is immoral to enslave another human being.

C. In order to ensure a bountiful harvest, it is vital to make sacrifices to the gods and goddesses.

D. For a democracy to function, the right to participate must be extended to all members of society.
E. The best way to understand issues like justice is to engage in a dialogue in which the questions and answers will lead to deeper understanding.

35. Which of the following best describes the position of women in ancient Athens?

A. They were expected to raise and bear strong children who would serve as the basis of the professional military.

B. They were encouraged to exercise and were allowed to be seen in public.

C. Husbands and wives were equals before the law and spent considerable time with each other.

D. Most women had some form of formal education and enjoyed opportunities to apply it outside the home.

E. Women were isolated in the homes and given very few legal rights.

36. Which of the following is an example of Hellenism?

A. excavation of Roman walls and roads in England

B. imitations of the Persian architecture at Persepolis found in present-day Turkey

C. the incorporation of Greek-style art into an Egyptian cameo piece

D. evidence of pottery from Han China reaching the Middle East

E. Spartan ships that were modeled on the Athenian navy

37. Which of the following is the correct order of events?

A. Peloponnesian War, Beginning of Greece’s classical period, Era of tyrants, Rise of Alexander the Great

B. Beginning of Greece’s classical period, Peloponnesian War, Era of tyrants, Rise of Alexander the Great

C. Beginning of Greece’s classical period, Rise of Alexander the Great, Peloponnesian War, Era of tyrants

D. Era of tyrants, Beginning of Greece’s classical period, Peloponnesian War, Rise of Alexander the Great

E. Rise of Alexander the Great, Beginning of Greece’s classical period, Era of tyrants, Peloponnesian War

38. Which of the following accurately describes the political conditions of the Roman Republic?

A. Power rested in one, all-powerful leader whose legitimacy came from military success and conquest of new territory.
B. Land was the basis of wealth, and agriculture was the essential economic activity.

C. Power was shared among the people through direct democracy, although women and slaves had few rights.

D. Power was centered in the Senate, where select male citizens made foreign and domestic policies.

E. Wealth was divided equally among citizens, and political power resided in many assemblies where all voices in the decision-making process were equal.

39. One impact of the expansion of the Roman Empire was

A. efficient and profitable trade because of the safety and stability of Roman rule.

B. the spread of the Latin language and Roman customs around the entire Mediterranean region.

C. that land was divided more evenly among the people of the empire than in previous times.

D. an increase in the reliance on slave labor.

E. a dramatic reduction in the gap between rich and poor.
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40. All of the following contributed to the “third-century crisis” EXCEPT

A. frequent changes in rulers.

B. the invasion of Germanic tribes deep into the empire.

C. inflation and poor economic decisions by emperors.

D. disruption of large-scale, long-distance trade.

E. large-scale conversion to Christianity.

41. Which modern-day territories constitute Mesoamerica?

A. Mexico and Central America

B. Central and South America

C. North and South America

D. Most of Mexico and the United States

E. Mexico, the United States, and Canada

42. Which of the following statements about early Amerindian peoples is true?

A. Economic and political rivalries led to nearly constant conflict among various groups.
B. They relied heavily on the wheel and an impressive network of roads.

C. Seafaring knowledge allowed for extensive long-distance trade.

D. Though they were not politically united from North to South America, common language and culture existed.

E. They developed specialized technologies and domesticated plants and animals.

43. The successful completion of large building projects by the Olmec was in large part because of
A. the enormous wealth that came from the gold mines of the Olmec homeland.

B. the large population that lived in Olmec cities.

C. the ability of the Olmec elite to require and direct labor from its inhabitants.

D. the decentralized nature of their political system.

E. a reliance on a massive supply of slave labor.

44. The dominance of the Chavin can be attributed to 

A. early advancements in agriculture and trade.

B. their strategic location along the Pacific Ocean.

C. being the first in the Americas to successfully domesticate horses.

D. superior military resources and strategy.

E. their strategic location at the center of Mesoamerican trade routes.

45. Which statement about the development of civilization in the Eastern and Western Hemispheres is true?

A. Civilizations in the Western Hemisphere were far more advanced than those in the Eastern Hemisphere.

B. The Western Hemisphere had large draft animals that could be domesticated, while the Eastern Hemisphere did not.

C. Lacking the wheel and metal, civilizations in the Western Hemisphere were delayed and far less sophisticated than those in the Eastern Hemisphere.

D. The development of civilization was influenced greatly by environment, and societies of both the Eastern and Western Hemispheres were sophisticated and complex.

E. The isolated and relatively peaceful nature of civilizations in the Western Hemisphere allowed them to emerge earlier and grow stronger than those of the Eastern Hemisphere.

